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QUESTION 1

Why does the size of the repository double when running online compaction?

A. A cache is created to improve performance of compaction.

B. A backup generation is stored on disk after online compaction.

C. The first generation is only cleaned after running a second online compaction.
D. A temporary working generation is stored on disk but removed afterwards.
Correct Answer: B

Reference: https://docs.adobe.com/content/help/en/experience-manager-64/deploying/deploying/revisioncleanup.html

QUESTION 2

A DevOps Engineer receives notifications from the monitoring system about a bundle being stuck in
“installed” state.

A new version of an OSGi bundle was recently deployed.

All author and publish instances are affected.

Manually starting the bundle does not solve the issue.

What prevents the OSGi bundle from being activated?

A. At least one OSGi component throws an exception during activation.

B. At least one OSGi component has ConfigurationPolicy set to "required” and no configuration is provided.
C. At least one OSGi bundle marked as a dependency is not available in the instances.

D. At least one OSGi component reference is unsatisfied.

Correct Answer: A

QUESTION 3
Which tool must be used to run an offline compaction?
A. oak-run jar
B. crx2oak jar

C. oak-offline-compaction jar
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D. oak-maintenance jar
Correct Answer: A

Reference: http://www.aemcq5tutorials.com/tutorials/online-offline-tar-compaction-in-aem/

QUESTION 4

An end user reports performance issues on the site. The AEM environment uses a CDN and a dispatcher as caching
layers. The number of requests on the publish instance has increased significantly.

Which metric can be monitored to see trends related to the problem early enough to be able to react?
A. Output from the request.log in measuring response time

B. "Current cache hit ratio" in the dispatcher.log

C. "Recent requests" in AEM

D. Offload metric in the CDN

Correct Answer: B

QUESTION 5

A company is anticipating a large migration of web assets into their AEM instance. Bulk upload of large assets is
typically a very resource intensive process.

The DevOps Engineer needs to avoid any potential performance impact and high Java heap consumption.

Which change should the DevOps Engineer make to the Apache Sling Job Queue Configuration?

A. Set the queue.type to "Ordered"

B. Set the queue.maxparallel value to 50% of the CPU cores of the server running the AEM instance

C. Set the queue.retries value to 10 and any failed attempts are not rescheduled and assumed to have failed

D. Set the queue.keepJobs to enabled making sure successful finished jobs are kept to provide a complete history
Correct Answer: B

Reference: https://helpx.adobe.com/experience-manager/kb/performance-tuning-tips.html

QUESTION 6

Assuming the project was generated using the AEM maven archetype, which maven command triggers the build and
deployment of a content-package to a publish instance?

A. mvn install -PautolnstallPackagePublish
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B. mvn install -PautolnstallBundle

C. mvn install -PautolnstallPackage

D. mvn install deploy -Pmode=autolnstallPackage
Correct Answer: C

Reference: https://helpx.adobe.com/experience-manager/using/maven_arch11.html

QUESTION 7

How can the DevOps Engineer prevent any user from logging in with the default admin credentials during startup of the
AEM instance?

A. Update the default password in the OSGi configuration for the OSGi web console
B. Change the default AEM admin password on initial setup

C. Configure the dispatcher to prevent access to /system/console

D. Disable the OSGi web console login bundle by using the production ready runmode

Correct Answer: B

QUESTION 8
The DevOps Engineer sees many occurrences of org.apache.sling.api.resource.LoginException in the logs.

Apache Sling Service User Mapper Service is configured with a default user. Service user mapping is configured for the
OSGi bundle, causing the exception.

What is the root cause of these exceptions?

A. There is no service user mapping configured for the Java class causing the exception.

B. The exceptions relate to failed login attempts with incorrect credentials.

C. The configured service user is not a system user or does not exist.

D. Administrative resource resolvers have been disabled by configuration and the bundle deployed still relies on it.
Correct Answer: D

Reference: https://docs.adobe.com/content/help/en/experience-manager-64/administering/security/ security-service-
users.html

QUESTION 9

A client is submitting a form that contains a CSRF token that is passed using the CSRF-Token HTTP header. When
looking at the web server access logs the header is printed out, but on the AEM instance the value is not present in the
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request.

What should the DevOps Engineer configure to make the values available on the AEM instance?
A. Add the /clientheaders { "CSRF-Token" } in the dispatcher configuration

B. Add X-Forwarded-Header: CSRF-Token in the virtual host configuration

C. Add ffilter /0001{ /type "allow" /glob "CSRF-Token" } in the dispatcher configuration

D. Add Header set CSRF-Token in the virtual host configuration

Correct Answer: D

QUESTION 10

A DevOps Engineer finds that customers are experiencing long response times.
It is unclear which responses are slow.

The cache hit ratio is low.

Many requests are served from the publish instance.

What should the DevOps Engineer use to analyze the issue?

A. rlog.jar to analyze dispatcher.log

B. rlog.jar to analyze request.log

C. jtail.jar to analyze audit.log

D. jtail.jar to analyze access.log

Correct Answer: B
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